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B - - prooo1o0t | PReoo1602 | PRB0D1603
EREHE kg/m® - 1811 1028 614
pH - 2.0~12.5 12.40 11.76 12.12
AR % - 18.8 3.03 3.24
#4br7 > SiO; % - 99.2 56.0 74.4
AAbdk » Fex03 % - 8.39 2.24 0.13
f.1b42 » AlO3 % - 3.16 7.01 1.56
£.4b45 » Cal % - 15.0 21.6 30.2
#CrI % - 0.85 5.24 2.49
1t |5EAR » S04 % - 0.06 0.73 0.20
= g ma/kg - 1730 932 460
AR 445 mg/kg - <10.0 61.4 24.5
# & Bk mg/kg - <0.200 0.301 1.99
N ek ma/kg - 10700 8260 2610
B [ mg/kg _ 2680 1350 172
sk mg/kg - 570 854 44.7
Hhry mg/kg - <20.0 22,6 <20.0
B4R mg/kg - 1100 1060 97.6
N = ND ND ND
akieks mg/kg - (MDL=0.02) | (MDL=0.02) | (MDL=0.02)
BRFRE X% ng I-TEQ/g - 0.024 0.318 2.99
[ & 55 % - 3.10 2.37 25.8
HERE % 5.0 1.1 - -
= ND ND ND
TCLP &% | mglL 02 | (MDL=0.0004) | (MDL=0.0004) | (MDL=0.0004)
ND ND
@ L
TCLP &a4% mg/L 5.0 (MDL=0.021) | (MDL=0.021) 1.42
= ND ND ND
b 45
. TCLP#d | mgll 1.0 (MDL=0.016) | (MDL=0.016) | (MDL=0.016)
= ND <0.050
@ *
p [TCLP##: | mgl | 50 |, S0 | 513 10.040)
& ND ND ND
43 o]
. TCLP 45 mg/L 5.0 (MDL=0.038) | {MDL=0.038) | (MDL=0.038)
N - ND *
;ﬁ TCLP {84 | mg/L 2.5 (MDL=0.01) 4,92 0.03
ND ND
@ 47
TCLP#4d | mglL | 15.0 0617 | 1ibis0017) | (MDL=0017)
ND <0.100 <0.100
)
TCLP e | moll | 1.0 | vini=0039) |  (0.049) (0.047)
TCLP #a48 mg/L 100 1.23 0.876 0.703
TCLP 4a4% mg/L - 0.091 <0.050 1.23
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